Relationship brightnessB*y and tristimulus value Yt as function of
viewing angle¢ for test equal adaptation Iuminancd_a=1000cd/m2

B*v1(LT, Lo §) = §(Lad)LT — dy(Lar 0)
BolLar ) = Cr (0)[So(9) + Su($)Lal

1000 120" 22,969 0,0718 0,2448
1000 100’ 23,128 0,0747 0,2494
1000 90" 23,415 0,1086 0,2526
1000 60" 23,973 0,1313 0,2657
1000 30" 26,235 0,1797 0,3188
1000 20" 27,971 0,2013 0,3555
1000 10" 30,747 0,2730 0,3984

48,0U 120’ 22,969 0,0718 0,2448

brightnessB*yt
(n=0,31,L5=(Laoo/La)) [2]
5($) =Cr(®)La [3] dy(Lad) =Bo(La $)Lra [4] (s=scaling factor)
Yr ¢ Cr(0) Sol®) Su$) BolLad) B*vr s/Lab)dy(Labd)

49,51 100,51
50,82 100,53
52,89 100,79
57,37 100,97
75,92 101,46
90,28 101,75
112,66 102,61

49,51 50,00U
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hepd0-Ba L5=1000, L=300, Lajdr=3,33Lajdren=1,450" <= ¢ <= 120’



